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QUESTION 1

What is the default selection for a global report\\'s access when the report is initially saved?
A. Everyone

B. Global Report Creator

C. Solution Administrator

D. There is no default selection for global reports

Correct Answer: A

QUESTION 2

Which of the following options CAN NOT be used to determine a recipient for a subscription notification?
A. User/Groups field

B. Record Permission field

C. Text field with an Email text mask

D. External Links field using the "mailto:" link

Correct Answer: D

QUESTION 3

What happens when you select the Round Robin option for a workflow stage?

A. A record is randomly assigned to qualified users.

B. A record is assigned to the user with the smallest workflow queue.

C. Arecord is assigned to the user with the most expertise on that topic.

D. A record is assigned to the user with the highest level of access for that application.

Correct Answer: A

QUESTION 4
When building a Rule for a data-driven event, which of the following field types CAN NOT be referenced by the rule?
A. Text

B. Attachment
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C. Record Status
D. Users/Groups List

Correct Answer: B

QUESTION 5

Which of the following is NOT a category for RSA Archer field types?
A. Basic

B. System

C. Advanced

D. Technical

Correct Answer: D
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